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Write a two paragraph story
about 3 people building a house

[...]1 Finally, after years of saving
money and sketching designs, they

decided to build their dream house.

Bob with his architectural expertise,
sketched a breathtaking design of a
two storied country house.

How many total designs were
sketched in the story?

Expected answer: Many

The story only mentions
one design being sketched [...]

| Reverse Question Answering (RQA) |

Generate a one-sentence question with the answer: "488".
The only possible answer to the question must be "488".
The question should not contain the text "488".

Question: What is the sum of the first eight prime numbers?

| Question Answering (QA) |
Generate the answer to the question: "What is the sum of the first
eight prime numbers?". Give just the answer and no explanation.

Answer: 77

A\ Z A
2+3+5+7+11+13+17+19 =77
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“What It Can Create, It May Not Understand”
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Austin had a rough day at work
and decided to go to the bar.

&ﬁ{::& Austin had a drink that night.

— I 173 Why did Austin do this?
Austin likely went to the bar and had
a drink because he had a rough day

u>..

Ajcl‘ -

at work and wanted to relax, unwind,
or temporarily escape from the stress
and frustrations he experienced
during the day.

Select the best answer from the

¥U%Uﬁ1 '% choices provided: A settle down T

J:l:/ B. Go to the bar

Ej]l 'éj\ C. Order a drink

B. Go to the bar
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Write a two paragraph story
about 3 people building a house

[...] Finally, after years of saving
money and sketching designs, they
decided to build their dream house.
Bob with his architectural expertise,
sketched a breathtaking design of a

two storied country house.

How many total designs were
sketched in the story?

Expected answer: Many

The story only mentions
one design being sketched [...]
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Reverse Question Answering:
Can an LLM Write a Question so Hard (or Bad)

that it Can’t Answer ?
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' QA & RQA

QA: For an input question g, QA deduces the correct
answer a.

RQA: Given an answer g, generate a valid question g
to which ais the answer.



Reverse Question Answering (RQA)

1.RQA
HEH

Generate a one-sentence question with the answer: "488".
The only possible answer to the question must be "488".
The question should not contain the text "488".

Question: What is the sum of the first eight prime numbers?

A\ Z A
2+3+5+7+11+13+17+19 =77

Question Answering (QA)

A
S,
>

T4

fHEH

Generate the answer to the question: "What is the sum of the first
eight prime numbers?". Give just the answer and no explanation.

Answer: 77
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Answer Type Description Example Question Example Answer Count
(1) Number Integers in [100, 1000) What is 26 times 47 104 900
(2) Number+Text Integers with a text entity When did Pope Hormisdas die? 523 AD 743
(3) Easy Fact Well-known factual entity Who is the artist that painted Starry Night?  Vincent van Gogh 900

(4) Hard Fact Obscure factual entity

What 1s the final painting by Paolo Uccello? The Hunt in the Forest 900

1M QAK R £E
Number: FHNIA= R

2 AR QAKU AR
AR H, #33]RQA

Hth: $#2HHQANTAEHEA

/l[ﬂl

VAR

This country defeated the invasion fleet of Liu Yan by inserting iron-tipped
poles into a riverbed at the Battle of the Bach Dang River. Ma Yuan defeated
an independence movement in this country led by the Trung sisters. This
country's imperial capital was Hue [hway], and its last emperor was Bao Dai
["bough die"]. For 10 points--what country was reconstituted from former

"north"” and "south" portions in 19757
Answer: Vietnam
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Reverse Question Answering (RQA)

Generate a one-sentence question with the answer: "488".
The only possible answer to the question must be "488".
The question should not contain the text "488".

Question: What is the sum of the first eight prime numbers?

Question Answering (QA)

Generate the answer to the question: "What is the sum of the first
eight prime numbers?". Give just the answer and no explanation.

Answer: 77
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RQA Fails RQA Succeeds
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